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Unit 2 Day 5
Probability
Multiplication Rule with
Conditional Probability
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[I. "At least" probabilities Example

If 2 cards are drawn from a deck and replaced, find the
probability of getting at least one faggggr;c{_}
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"At least" probabilities Example
(*Think complements and multiplication all wrapped up into one.)

A coin is tossed 3 times. Find the probability of getting at least
one tails.
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1. "At least" probabilities Example

It is found that 6% of all automobiles on the road have
defective brakes. If 5 automobiles are stopped and checked by
the safety patrol, find the probability that at least one will
have defective brakes.
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. "At least" probabilities Example
You roll a single die 4 times. Find the probability of rolling
at least one 5. e
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Using a tree diagram Example

A bag contains 14 counters with the letters of the word TRANSFORMATION written

on them. A counter is chosen at random and not replaced before choosing another

one. Use a tree diagram to answer the following: /
il

P
What is the probability of / < T
* Getting two consonants? q l 5,/, /I"Z

1
2. Getting a vowel at least once? )- 3"/1”
3- Getting exactly one vowel? Y 5/ | | g2
4. Not getting exactly one vowel? ' - qq/‘i &
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4o/, /8
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Using a tree diagram Example

An airport screens bags for forbidden items, and an alarm is supposed to be

triggered when a forbidden item is detected.

Suppose that 5% of bags contain forbidden items.
If a bag contains a forbidden item, there is a 98% chance that it triggers the

alarm.
If a bag doesn't contain a forbidden item, there is an 8% chq ce ﬂﬂf it Tr‘i%gers
0 0.099~

the alarm.
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What is the probability of: .95 792 "NR 0.%29
. Abag having a forbidden item and triggering the alarm? 0[0!{”

A bag containing a forbidden item, given that it triggers the alarm?
a—
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